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A B (n-1)

B (n-1
a,
a,=(n-)+1+(n-1)=2n-1

B A B (n-3
C A B
C (n-2) (n-2) A
B
A (n-2) B
a,=1+(n-)+1+(n-2)+1+(n-2)=3n-2 % i : ]

a,=3a=7,3,=15
a,=2-1a=2-1a=2"-1
a,=2"-1

y=a,+1+a,=2a,+1=2-3+1=7
a,=a,+1+a,=2a,+1=2-7+1=15

a=2+1
a,=1+2a,=1+2(2+1) =1+2+2
a,=1+2a,=1+2(1+2+2%) =1+2+2*+ 2
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A (n-2) C C (n-3 A
A C
b, n a,

n-1 n-1
bn :an,1+1+an,2+an73+"'+a2+a1:1+zak :1+Z(2k_1):2“_n+2
k=1 k=1

b,=2°-2+2=4 B
b,=2
b,
B 2 A B cC A C
b,=5
B A(orC)
Casel (B) (AorC)
n (n-1
n a,

a,+1=2""-)+1=2""

Case 2 (AorC) (B)

a ,+1=(2"*-)+1=2""

Case2 Casel

C>A-B->C->B—>A->B->C—H>B->A->--

n b
b=22+2°=5
b,=22+2"+2°=11
bh=2'+2"+2"=22

h=22+2°+2°+2°+2242°
De=2"+2"+2°+2*+ 22+ 2"+ 2°

B, =2"+2%+2"+ 22420+ 224+ 2"
b,=2"+22+2°+2°+2°+2°+2°+2° -
D=2 +204+2°+2" 4+ 20+ 20+ 224214 2° «
b,=22+2"+2°+22+ 2"+ 22+ 20+ 22+ 2 <«
( ) b,
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nmod 3=0
b,=2"+2"+2°+2° ... 42322 "

=(2+22+ 24 42" (2 42 2T +2"1
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7
nmod 3=1
b,=2b ,+1 n-1
n-1 n
bn:2_5~2 —5+1:5~2 -3
7 7
nmod3=2 n|12(3(4|5|6|7|8|9]10
b, | 2|5 |11|22]|45|91|182|365|731
b, =2b,,
n-1 n
bn:2.5~2 —3:5-2 -6
7 7
a, =1023
b, = 365
O
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(Claus)
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2% —1=18446744073709551615 ( )
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a, a,=3a,=54a,=94a,=13
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